Net Ionic Equations and Solution Stoichiometry
1.   Each of the following pairs of aqueous solutions are mixed. Write the balanced chemical equation and net ionic equation. If NO precipitate (solid) forms, write  NO REACTION for the Net Ionic Equation. 

(a)  Potassium sulfide and Barium nitrate
Balanced Chemical Equation:
Net Ionic Equation (if appropriate):
(b)  Lead(II) nitrate and Ammonium chloride
Balanced Chemical Equation:
Net Ionic Equation (if appropriate):
(c)  Sodium carbonate and Barium nitrate

Balanced Chemical Equation:
Net Ionic Equation (if appropriate):
(d)   K2PO4 and CaCl2
Balanced Chemical Equation:
Net Ionic Equation (if appropriate):
(e)  KOH and NaNO3
Balanced Chemical Equation:
Net Ionic Equation (if appropriate):
 (f)  Mg(NO3)2  and NH4HCO3
Balanced Chemical Equation:
Net Ionic Equation (if appropriate):
      (g) HC2H3O2 and NaOH
Balanced Chemical Equation:
Net Ionic Equation (if appropriate):
1. The volume of 30.0 mL of 0.150 M CaCl2 is added to 15.0 mL of 0.100 M AgNO3.  What is the mass in grams of AgCl formed?  (Write the net ionic equation for the reaction.) (0.215 g)

2. How many grams of NaCl are required to precipitate practically all of the Ag+ ions from 2.50 x 102 mL of 0.0113 M AgNO3 solution?  (Write the net ionic equation for the reaction.) (0.165 g)

3. The concentration of Pb2+ ions in a sample of polluted water that also contains nitrate ions (NO3-) is determined by adding solid sodium sulfate to exactly 500 mL of the water. Calculate the molar concentration of Pb2+ if 0.450 g of Na2SO4 was needed for the complete precipitation of Pb2+ ions as PbSO4.  (Write the net ionic equation for the reaction.) (0.0063 M)

4. How many mL of a 0.610 M NaOH solution are needed to completely neutralize 20.0 mL of a 0.245 M H2SO4 solution?  (Write the net ionic equation for the reaction.) (16.07 mL)

5. In a base standardization procedure involving titration, a student finds that 0.5468 g of KHP (KHC8H4O4) is needed to completely neutralize 23.48 mL of NaOH solution.  What is the molarity of the NaOH solution? (0.1141 M)

